IromEm X $=1:1000

METIEE L=240.0m

@ A=1120n
YEIA—N— LA (EE) A=1120m
EIHIA—N—L 4 (ENB2/E) A=300m (HFMET)

T i B B : ;
*m—% Eﬁﬁ $=1:50 %ﬁ % *% hjz $=1:10

6.00 xE (BEBME-ITRI7ME S
- | EE (BHEMME-FRI7MD 3
B (REERERE) S
FERBRER CBRI2%LLE
M =T =
HOE W E G ®E
=W (BEBHETZI7)LE) t=don OE X OB i 4024 £ 1005K3% (N 3EHEI0%)
£E AR ® & Cc B R 12 %
B (BEMBETZT7IL k) t=5 S =
- 7L b en B i = B |SERRGH|T A BEES £ 1 &M 1 8
B = X B | BEBHREIN-ITRI7ME 4 1. 00 4. 00
| BB t=2lon " i — AR L EARBERATE
£ B | BEBHEIN-ITRIIM 5 1. 00 5. 00 TER - EEEEE
TREE | 15vve-5v (B ®) 21 0. 15 3. 15 —
[ R FIES
& it 30 12. 15 WHEAR
B ® & (cm) 10. 00 SLELE -
” = . KFHEHBMERDEREMHRR
o




